ATTACH w/ (6) #10 SM.S.
EVENLY SPACED AROUND
SOLATUBE (TYP)

SOLATUBE DOME

SOLATUBE

RING FLASHING
SOLATUBE

RING SEAL
SOLATUBE CAP
(20)- #12"x2" SMS
w/ FENDER WASHER
AROUND PERIMETER

METAL CURB -~

‘/\ ‘\ \ BLKG

w E] /

+ T787],/3% MINN
SEE 6/M1.6 FOR
ALTERNATE CLIP

ROOF JOIST

BEYOND

SOLATUBE A

#

PLATE BLOCK!NG>

SOLATUBE CURB

22 /27
LOCATE @ SOLAR TUBES ONLY

\PURLlN
BLOCKING /
[ ]
W/OUT SOLATUBE CURB

©26" SOLATUBE CURB

_—(20)-§12"x2" SMS

w/ FENDER WASHER
AROUND PERIMETER
w/ VULKEM CAULKING

W/ SOLATUBE CURB

POLYURE)THANE CAULK

|SOLATUBE CURB ATTACHMENT DETAIL

LINE SIZE GAS SHW
LINE SIZE X 6" DIRT

TO CONDENSATE:

CONNECT
"~ "DRAIN PAN ON UNIT

ACHMENT DETAIL __ T

CONNECT T
GAS TRAIN

Z PURLIN PER
STRUCTURAL PLANS
Z PURLIN PER
STRUCTURAL PLANS
SAMMY HANGER
SIDEWINDER SWD 516
. . (1) #10 STSMS TYP~
1/4" THREADED ROD
STEEL CITY BRACKET s
PIPE CLAMP o

PIPE w/ PLASTIC LINER

MAX WATER FILLED
\&EiGﬂTz’-‘fﬁ LBS/FT) 2x4 @

48" o0.c.
1/4” THREADED ROD

{TY BRACKET
STEEL © PIPE CLAMP

PIPE w/ PLASTIC LINER
ol

L3
o
4o

CLAMP SCREW

WATER FILLED
WEIGHT=10 LBS/FT)

NOTE: CLAMP SCREW
E IMUM LOAD PER HANGER
200 B M N 05RD FER ROGE PURLIN

4" MAX PIPE LINE

STRUT CLIP @ 8" O.C.

PIPE FLASHIN
PRE—-MOLDED PIPE BOOT

CLAMPING RIN LAP CAULK (BEADED) ERICO CADDY PYRAMID ST

ADJUSTALBE HEIGHT STRUT
ANCHOR DISC % BRPORTS RPS380405 OR
ROOF = & 8’ 0.C. OVER
VENT N N\ AT METAL ROOF)
LAP CEMENT < 0
e TAPE PRIMER/WASH | Ny rRFFLE
* é “

NOTE: o e
IF PIPE LINE SPANS GREATER THAN 16'-0" BETWEEN
THE WALL SUPPORT AND THE HVAC UNIT, POSITIVE

~ ATTACHMENT MUST BE PROVIDED BETWEEN THE BLOCK
AND THE METAL ROOF

787 Spreckele Ave.Manteoa, CA 95336
Phone (200) 8251621 - Fax (209) 825-7018
armericanmodular.com

MODULAR MANUFACTURER PROPRIETARY STATEMENT

THESE DRAWINGS AND THE MATERIAL CONTAINED THERE-
IN ARE THE PROPERTY OF AMERICAN MODULAR SYSTEMS,
INC. (AMS) AND SHALL NOT BE REPRODUCED, COPIED OR
OTHERWISE DISPOSED OF DIRECTLY OR INDIRECTLY AND
SHALL NOT BE USED IN WHOLE OR IN PART TO ASSIST
IN THE MAKING OF OR FOR THE PURPOSE OF

FURNISHING ANY INFORMATION FOR THE MAKING OF

DRAWINGS, PRINTS, APPARATUS OR PARTS THEREOF
WITHOUT THE FULL KNOWLEDGE AND WRITTEN CONSENT B
OF AMS. ALL PATENTABLE MATERIAL CONTAINED HEREIN |
AND ORIGINATING WITH AMS SHALL BE THE SOLE
PROPERTY OF AMS.

PRE-CHEGKED SET NAME
. 24' x40' THRU 120’ x 40’
2:12 PITCHED ROOF

METAL CURB
ROOF

4
\\é(:s) #10 STS SCREWS
TO JOIST AND RLOCKING
PURUN/BLKG

w/ (3)— 0.1317#x3" NAILS EACH

STUD & TO 2x BLKG
w/ 0.131"9x3" NAILS

@ 12" 0.C. " TOE~NAIL EA SIDE EA JOIST

SIMPSON LUZ26
/  HANGER

]

FULL HEIGHT
WOOD STuD
INTERIOR WALL
PER S8.1

@ INTERIOR FULL HEIGHT WALL

2x6 RIM JOIST ATTACHED
TO JOISTS w/ (2)
0.131x3" NAILS AND

TO WALL TOP PLATES w/
0.131x3" TOE NAIL

1AIVENT THRU ROOF PENETRATION DETAIL N.I.J 2 [CONDENSATE / GAS \
ROOF BEAM -
2x6 LEDGER ATTACHED TO WALL 246 HF. #2 OR BETTER 26 LEDGER ATTACHED TO WALL N—f—

JOIST @ 24" 0.C., MAX SPAN w/ (3)- 0.131"8x3" NALS TO
120" EACH STUD OR TO TOP PLATE
w/ 0.131"8x3” NALS @ 8" 0.C.
& (1)0.131%¢x3” NALS
TO WALL TOP PLATES TO EA STUD

w/0.1316x3" NAILS |
SIMPSON LU28 HANGER —

1/2" GYP BD

7P 2x FULL DEPTH BLKG

AT MID-SPAN FOR ., I
JOIST SPANS > 80" §
IF CEILING IS ~.

ACCESSIBLE

@ 12" 0.C. MAX

WOOD STUD

INTERIOR WALL

PER S8.1

SILL PLATE AND

ATTACHMENT PER
15&16/58.1

FLOOR PER
83.0 OR S3.3

WOOD STUD EXTERIOR
WALL PER S8.0 & S8.1

@ ROOF BEAM

@ INTERIOR WALL

8 ~120" % 40

1540 ;o
)’ M X

021

WD T ONAL SO AT BE DAL

DETAIL w/ WOOD STUD - OPTION

VAC UNIT PIPING PIPING DETAIL SOLATUBE SECTION (ALT. CLIP GYPSUM BOARD CEILING DETAIL - OPTIONAL
HVAC UNIT PIPING 4 N E ( ) conr 1ize0] 8 | V AE ety
' ROOF BEAM
— ?32;;5‘25; 3{(?5;\,30%}:@;;5 $§%§§~CH 550T150-43 OR 600T150~43 STEEL TRACK
&;ﬁ X WALL BLKG W/ #10 S.MS. & 12" 0.C. WOOD STUDS W/ (2}"' #32 WS @ 16" 0.C., OR
§ = TO STEEL STUDS w/ (2)- #10 SMS. @ 18" OC.
| & 5507156 ‘ #10 SMS. TOP & BTM @ EACH STUD
BUTYL TAPE — b x g;g %M?Ac?%o%?gco 600T15g743
i SLOPE ATTACHIR TG T
% 55w TOP TRACKW§ ~
= « WAL BLKG < SMS. @ 12 >4 e T
k&é 20/59.1(SiM) #10 sus. O g e :’jwwm e ”2 e —
= - EACH JOIST T0 N 1 o33 AEL
e A 1/2" GYP BD WALL TOP TRACK "W "M (OR EQUIV.)
e ; e o = e stoo— I RV o I h L ST T
i ’ INTERIOR WALL §l.\ 3 ' SPANS > 8'90" tor e
£ y PER $9.0-59.2 8 CEILING IS ACCESSIBLE[}>-
- FULL HEXSHT FLOOR ATTACHMENT — OR * IF CPJUNG :
£ STANDING SEAM INTERIOR WALL PER 3k4/S9.1 HI| |}
Le1=0" N, L [TueraL ROOF PER $9.0-59.2 | WOOD STUD EXTERIOR
3 OVERLAP  x L - . 2 WALL PER sa.ov & s(a).g
FLOOR PER .0-59.
unozm%%uggg ';:NN%./ K mGHJ (8 ) “3%S;LOMR££A Z LS?QSJEEQN%‘SHT%%O’;M;%JEL @ INTERIOR FULL HEIGHT WALL S3.0 OR S3.3
INTEGRAL FLANGE » 2o LS e
TO ROOF DECK w/ #12x%" PANEL ' BUTYL TAPE 7O ROOF DECK w/ #12x%" : @ INTERIOR WALL @ ROOF BEAM
STSMS w/ NEOPRENE STSMS w/ NEOPRENE ‘ . ‘
WASHERS @ 6" O.C. WASHERS © 6" 0.C. NOT USED 11] GYPSUM BOARD CEILING DETAIL w/STEEL STUDS - OPTIONAL -
PLAN VIEW
2x4 LEDGER BOAF/?D ATTACHED
TO TOP PLATE w/0.131"x3"
SOLATUBE DOME NALS @ 8" 0.C. & (1)
SOLATUBE | 0.131"8x3" NAILS TO EA. STUD
RING FLASHING ATTACH w/ (8) #10 S.M.S. (2) $12 SMS TOP & BTM
SOLATUBE RING SEAL ' /  EVENLY SPACED AROUND SIMPSON LU24~2
| SOLATUBE (TYP) HANGER
ATTACH w/ (6) #10 SMS. ) "
—— EVENLY SPACED AROUND CUSTOM METAL %" MIN. %" MIN,
N SOLATUBE (TYP) ROOF PANEL | PLYWOOD PLYWOOD
-t - INTEGRAL FLANGE ~—
_ o STANDING SEAM
P ' METAL ROOF 2x BLKG
i @ 2x6
RAFTERS
e ™~ 2x FULL HEIGHT
= é STUDS PER
B Wi f SHEET S8.0
FASTEN TO ROOF SHTG. 1.
STUDS PER
WHERE NO SHTG. OCCURS, I
PROVIDE & FASTEN TO B SHEET $9.0
. BLOCKING PER 3/S4.2 (3) $10 STS
SCREWS TO JOIST
SECTION A-A SECTION B-B AND BLOCKING | @ INTERIOR FULL HEIGHT WALL
' 6" PURU!YBLKG @ INTERIOR FULL HEIGHT WALL
scae:11z=1015 | NOT USED 16 17| DETAIL w/ STEEL STUD - OPTION

SITE SPECIFIC PROJECT NAME

SHEET TITLE

MECHANICAL
ROOF DETAILS

MANUFACTURER PROFESSIONAL OF RECORD ON PC

AGENCY TRACKING No, 83321-241
FILENO, 15-6
IDENTIFICATION STAMP

DiV. OF THE STATE ARCHITECT
QFFICE OF REGULATION SERVICES

PROJECT SPECIFIC STATE AGENCY APPROVAL

3 o ¥
FUEENTRCATION STAME
§ on OF i GTATZ ARCHgS

- Bix
ATE ARLE

IDENTI
DIV. OF THE STATE ARCHITECT /

CA. DEPT. OF GENERAL SERVICES-]

PC 02~
RV X

E~CHECK (PC) DOCUMENT -~ CODE: 2013 CBC

A SEPARATE PROJECT APPLICATION FOR CONSTRUCTION IS REQUIRED
REVISIONS

39

SHEET NUMBER

M1.6




	03-118380-081.pdf

